run_13067006 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Wed Mar 7 02:48:08 2012

[ADC for FGT RDO=1,ARM=0,APV=0 }

= ADC-ped

53

[ 1000

[>]
<]
&

for FGT RDO=1,ARM=0,APV=1 l

2000 3000

4000

raw ADC

C-ped

= AD
Q)

0 1000 2000

[ADC for FGT RDO=1LARM=0,APV=2 }

3000 4000

raw ADC

= ADC-ped

15}

1000

2000

[ADC for FGT RDO=1,ARM=0,APV=3 }

3000 4000

raw ADC

ADC-ped

o
15}

1000

2000

ADC for FGT RDO=1,ARM=0,APV=4 l

3000

4000
raw ADC

= ADC-ped

15}

0 1000

2000

3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=0,APV=0_}

o 4000 p—
2 =
o =

g 3500 fm— v e e e e .|
i =

3000 fm— v e e e e .|
=

2500 fm— - s s s n s .
=

2000 s e e e e .
=

1500 fm— v v e e e man et o

I -
=
=

5 |==ocozas00050a .
=
=

0 = :

= i R ; : : i
0 20 20 - i i i
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=1 "}

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0 f=—
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=2 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
==
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=0,APV=3 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=4 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

. A i el E.d e

10

10

10

10

10°




run_13067006 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Wed Mar 7 02:50:16 2012

[ADC MPV for RDO=1ARM=0,APV=0__}

MPV (ADC-ped)

i i
20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=1,ARM=0,APV=1 }

MPV (ADC-ped)

. . . i . . . i . . . i . . . i . . . i . . . i
Q 20, 40 60, 80 100 120
APV channel

-500

[ ADC MPV for RDO=1,ARM=0,APV=2 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

-500

APV channel

[ADC MPV for RDO=1ARM=0,APV=3 _}

= [
3 g
S —
Q 1500 p—
< —
> [
[ —
s L
O S e e e R R P PP PP PP PP
500 p—
[
M
o
0 f—,
i i i i i i i
<G 20 a0 ) 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=4 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

APV channel




run_13067006 FGT_RMS_ 1,Timebin=2,Disc=1,asmb=1DA
Wed Mar 7 02:50:51 2012

[ ADC RMS for RDO=1,ARM=0,APV=0 }
g
e 90
Q
a
< 80
0
2 70
60
O = TR PR ER PR TR | I B TR § 10 [ E SRR F B E TR RS DR N 3 I BRI N ket SRR =D ool 3 B A B 4 3 | EEEEREES E B o S
20 |2
30 f?J e
20 fE—
=
= i
0 0 120
APV channel
[ ADC RMS for RDO=1,ARM=0,APV=1 "}
':.?L 90 =
g 80 f=
<
g 70
@
60
50
40
30
20 =
10
0
[ ADC RMS for RDO=1,ARM=0,APV=2 "}
=) =
2 =
o
a
<
I
3
3
o E i i i i i i
0 20 40 60 80 100 120
APV channel
[ ADC RMS for RDO=1,ARM=0,APV=3 }
= e .
g .
S o
a o
< .
> o
= B
n: 5
® i i i i i i
20 40 60 80 100 120
APV channel
[ ADC RMS for RDO=1,ARM=0,APV=4 "}
=
g
[}
a
<
0
=
@

120
APV channel




run_13067006 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Wed Mar 7 02:48:12 2012

[ADC for FGT RDO=1,ARM=0,APV=5 }

ADC-ped

=
Q

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=0,APV=6 }

ADC-ped

.
15}

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1LARM=0,APV=7 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=0,APV=8 }

ADC-ped

o
=3

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=0,APV=9 l

= ADC-ped

15}

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=1,ARM=0,APV=6 }

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0 f=—
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—- - -
< =
3000 f=—- - -
=
2500 f=— - - -
=
2000 f=—-- -
=
1500 f=——- - -
1000 p=——- - -
=
500 f=— - -
=
o=
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=0,APV=8 }
- 4000 p—
5] = . . . .
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=9 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

.4 e d E.d Ll LA

10°

10

10

10°

10°




run_13067006 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Wed Mar 7 02:50:17 2012

[ADC MPV for RDO=1ARM=0,APV=5__}

MPV (ADC-ped)

. . ;
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=6 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=7 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

; ; :
€Y 20 0 50 80 100 120

APV channel

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=9 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

ool
Q 20 a0 0 a0 100 120
APV channel




run_13067006 FGT_RMS_ 1,Timebin=2,Disc=1,asmb=1DA
Wed Mar 7 02:50:52 2012

[CADC RMS for RDO=1,ARM=0,APV=5__}

RMS (ADC-ped)

140 -

120 f—

100 P
80

60

40

20

<3-|-I-I'I|I|'|'I-='I-I- IXK|

0

i
120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=6 }

RMS (ADC-ped)

160

140

120

100 [+

80

60

40

20

0

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=7 }

RMS (ADC-ped)

160

140 =

120 p—

100

80 p—

60
40 |

20 |

i
120

0

APV channel

[CADC RMS for RDO=1,ARM=0,APV=8__}

RMS (ADC-ped)

—
160
F—

140
120
100

80

60 H

0 =

20:

0

[ ADC RMS for RDO=1,ARM=0,APV=9 "}

RMS (ADC-ped)

160

140

120

100

80

60

40

20

0

°'I'I'I]'I11]11=IH FRFFFRTTITTT

20 40 60 80 100 120
APV channel




run_13067006 FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB

Wed Mar 7 02:48:15 2012

ADC for FGT RDO=1ARM=0,APV=12 _§

éDOped

3000 4000
raw ADC

ADC for FGT RDO=1ARM=0APV=13 |}

C-ped

= AD
15}

3000 40(
raw ADC

[ ADC for FGT RDO=1.ARM=0.APV=14 ]
—

= ADC-ped

15}

3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=0,APV=15

0 1000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=0APV=16 _§

= ADC-ped

15}

3000 40(
raw ADC

3000

2500

2000

1500

1000

500

0

10

[[ADC for FGT RDO=1,ARM=0,APV=12 }
< 4000 p—
gl = 10
Q 3500 f=—
< =
3000 =
2500 f=—
= 1
2000 =
=
1500 f=— |
1000 pP=—— | )
= 10
500 f—
=
=
0
=
0
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=13 "}
H 4000 p— - - > T T = 10
9 3500 f=—
< =
3000 f=—
2500 fm—
= 1
2000 fm/——
=
1500 f=—
=
1000 P=— ¢
= 107
500 f—
=
o
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=14 "}
< 4000 p= - - - - - -
g = 2 2 2 2 2 2 10
Q 3500 f=—|- - -
< =
3000 f=—|- - -
=
2500 f=—|- - -
= 1
2000 f=—|- - -
=
1500 f=——|- - -
1000 p=——|- - - .
= 10°
500 f=—|- - -
=
) =
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=0,APV=15 }
< 4000 p— - - -
g = 8 10
Q 3500 F=—
< =
3000 f=—
2500 =
= 1
2000 f=—
=
1500 f=——
1000 pP=—— )
= 10
=
500 f=—
=
ofE—
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=0,APV=16 l
.- 4000
] 5 5 5 5 5 g
&
Q 3500
2 } |

°Tm]|r|1|r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|1rr|

APV channel




run_13067006 _FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Wed Mar 7 02:50:19 2012

[ADC MPV for RDO=1ARM=0,APV=12_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=16 }

MPV (ADC-ped)

APV channel




run_13067006 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB

Wed Mar 7 02:50:53 2012

[ ADC RMS for RDO=1,ARM=0,APV=12

RMS (ADC-ped)

120

100 f

60 [

40 |-

80 |r

20 |-

[ ADC RMS for RDO=1,ARM=0,APV=13

RMS (ADC-ped)

i
120
APV channel

100

80

60

40

20

an :
0 :
[ :
— o R R P P
[ i i . i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=14

RMS (ADC-ped)

120

100

FF |1'I'T|I'IT[I1'I'[I1'I

[ ADC RMS for RDO=1,ARM=0,APV=15

RMS (ADC-ped)

140 F

120

100 |r
80 |

60 [

40

20 |+

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=16

RMS (ADC-ped)

180

160 f—
140 f——

120 f=

100

80

60 B

40

20 - p e .- I'

o i i . . . i . . . i . . . i . . . i . . . i :
20 20 60 80 100 20

APV channel

APV channel




run_13067006 FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB

Wed Mar 7 02:48:19 2012

ADC for FGT RDO=1,ARM=0,APV=17

=
15}

ADC-ped

3000 4000

raw ADC
[ ADC for FGT RDO=1,ARM=0,APV=18 |
o
3
[
o
a
<
10°
10
0 1000 2000 3000 4000
raw ADC
[ Apcfor Fet RDO=LARM=0APV-19 ]
5
3
[
o
a
<
10°
10
1000 2000 3000 4000
raw ADC
[[ADC for FGT RDO=1,ARM=0,APV=20 |
5
3
[
)
a
<

=
15}

0 1000 2000

3000 4000
raw ADC

ADC

for FGT RDO=1 ARM=0,APV=21

C-ped

= ADf
1)

3000

40
raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=17_J

= 4000 p—
] =
i =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
ofE—
= i i i i i i
0 20 40 60 80 100 12
APV channel
[ ADC for FGT RDO=1,ARM= =18
= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0 ==
E_. . i i i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=19
= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 =< <= - - -
< =
3000 - - .- - -
=
2500 pm—r v v - - -
=
2000 = =0
=
1500 f=—-------
1000 f=—-------
=
500 =t e - - - e e
=
() = ST
= i i i i i i
20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=20
= 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 &

2000

1500

1000

500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

[ ADC for FGT RDO=1,ARM=0,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

40

60 80 100 120
APV channel

APV channel

.. 8 o...a . E..a WA

10°

10

10

10°

10

10"




run_13067006 _FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Wed Mar 7 02:50:20 2012

[ADC MPV for RDO=1,ARM=0,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=18 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=19 "}

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=21 "}

MPV (ADC-ped)

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13067006 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Wed Mar 7 02:50:54 2012

[ADC RMS for RDO=1,ARM=0,APV=17 _}

100 [+

RMS (ADC-ped)

80 [+

—
60 [+
40 |

20 [-

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=18 "}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=19 |

T wE—y
8 180 =\
< =
@ 160
g =
140 =
120 P=
100 =
w0 [=
* i
40 =
20 F5— s
= [ i i i i i i
0 20 20 60 80 100 120
APV channel

[CADC RMS for RDO=1,ARM=0,APV=20 _}

140

120 ._

RMS (ADC-ped)

100 p—
80
60 [
40 [+

20

0

[ ADC RMS for RDO=1,ARM=0,APV=21 "}

120 |

100 [+

RMS (ADC-ped)

80 |-

60

40 f

20 [

i
120
APV channel




run_13067006 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Wed Mar 7 02:48:24 2012

[ADC for FGT RDO=1,ARM=1,APV=0 }

C-ped

=AD
Q

2000

3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=1,APV=1 }

= ADC-ped

15}

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=LARM=1APV=2 }

ADC-ped

=
1)

2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=1,APV=3 }

= ADC-ped

=)

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=1,APV=4 l

ADC-ped

=
1)

2000

3000 40(
raw ADC

[ ADC for FGT RDO=1,ARM=1,APV=0

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r!1lrll|r|1|r|1|[|1n-|1rr|

[ ADC for FGT RDO=1,ARM=1,APV=1

4000

APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=1,APV=2

" 1
40 60 80 100 120
APV channel

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
d==
= i i i i i i
20 20 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=3
- 4000 p—
5] = . .
oo =
Q 3500 F=— - PR PR
< =
3000 f=— EEE S EETE
2500 = RPN N R .
2000 f=— Rl O R
=
1500 f=— - EEEE
1000 P=— - v - b e e e : EER A EEEE )
= 2
= 2
500 s e e . EEEI P PR
= 2
Of—-rrrtr e { e B B
= i
= 1
0

[ ADC for FGT RDO=1,ARM=1,APV=4

4000

40 60 80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

... .4 e Jd el L8

10

10°

10°

10°

10




run_13067006 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
Wed Mar 7 02:50:21 2012

[ADC MPV for RDO=1LARM=L,APV=0_}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=1 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=2 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120
APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=4 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13067006 FGT_RMS 1, Timebin=2,Disc=2,asmb=2DA
Wed Mar 7 02:50:56 2012

[ADC RMS for RDO=1LARM=L,APV=0 J

RMS (ADC-ped)

220
200
180

160 F

140

120

100
80
60

40 |

20
0

=
re——
=

0

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=1 }

RMS (ADC-ped)

120 £
100 |-
80 2

60 [+

40

20

°'I'I'f]'|'l1'|'|"

[ ADC RMS for RDO=1,ARM=1,APV=2 "}

RMS (ADC-ped)

220
200
180

160 [

140

120 |

100

80

60 B/

40 E

20
0

APV channel

[CADC RMS for RDO=LARM=L1,APV=3_}

RMS (ADC-ped)

220
200
180
160
140
120
100
80
60
40
20
0

|1II]IH i L L RN i

i
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=4 "}

RMS (ADC-ped)

220

200

180 =

160

140 =

120 P—

100

80

60
40
20

0

APV channel




run_13067006 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Wed Mar 7 02:48:28 2012

[ADC for FGT RDO=1,ARM=1,APV=5 } [ ADC for FGT RDO=1,ARM=1,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=6 } [ ADC for FGT RDO=1,ARM=1,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=1APV=7 } [ ADC for FGT RDO=1,ARM=1,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=8 } [ ADC for FGT RDO=1,ARM=1,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=1,APV=9 } [ ADC for FGT RDO=1,ARM=1,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




2DA

2,asmb

in=2,Disc
22 2012

b
50

ime

Wed Mar 7 02

51

1,APV=!

run_13067/006_FGT_MPV_1,T

APV channel
APV channel
APV channel
APV channel

120
120
120
120
120

=6 .
=7}
8 ]
|

1,APV
1,APV
1,APV:
1,APV

1,ARM
LARM:
1,ARM
LARM

1
il

[CADC MPV for RDO

(pad-0av) AdW (pad-0av) AdiW (pad-Dav) Adi (pad-0av) AdW (pad-0av) AdiW

[ADC MPV for RDO
[ADC MPV for RDO:
[ADC MPV for RDO
[ ADC WPV for RDO

APV channel



run_13067006 FGT_RMS 1, Timebin=2,Disc=2,asmb=2DA
Wed Mar 7 02:50:57 2012

[CADC RMS for RDO=1ARM=L1,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=1,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13067006 FGT_ ADC_1,Timebin=2,Disc=2,asmb=2AB

Wed Mar 7 02:48:29 2012

ADC for FGT RDO=1ARM=LAPV=12 _§

= ADC-ped

53

[ 1000 2000

3000
raw ADC

4000

ADC for FGT RDO=1ARM=1APV=13 _§

ADC-ped

=
Q

1000 2000 3000 40(

raw ADC

[[_Apc for FoT RDO=1.ARM=1.APV=14__ ]
—

ADC-ped

o
15}

1000 2000 3000 4000

raw ADC

[ ADC for FGT RDO=1,ARM=1,APV=15

ADC-ped

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=LAPV=16 __§

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=LARM=LAPV=12_}

= 4000 p—
] =
& =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
0 f—
=
0
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=13 "}
= 4000 p—
5] = . . 5 5 0
= = i
8 gD [i=—p =g o000 deocsc0000050050905psc00005500boasaqefec0095005095005504p095005055005500005500509500550990354(050950
< =
E L e T T e T B P E PR R RTY S T
Bl e TR e P L E T S T S PP PP
B e e e R A ] AP PR R TP PP TP SR
=
1500 P e = = e s
=
L e A e P S T R LT P EPEE CEEE
=
500 f=—|- - - EERREE
=
L R e
=L . . i . . . i . . . i . . . i . . i . . . .
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=14 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
==
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=15_}
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=1,APV=16 l
.- 4000
] 5 5 5 5 5 g
&
9 3500 -
<

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

. d e, ) . . el d Nl

10

10°

10°

10

10°




run_13067006 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2AB
Wed Mar 7 02:50:22 2012

[ADC MPV for RDO=1ARM=LAPV=12_}

MPV (ADC-ped)

i
20 40 60 80 100 120

-500

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=13 "}

MPV (ADC-ped)

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13067006 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Wed Mar 7 02:50:57 2012

[ADC RMS for RDO=1,ARM=LAPV=12__}

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=13 "}

RMS (ADC-ped)

1
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=14 "}

RMS (ADC-ped)

APV channel

[ADC RMS for RDO=1,ARM=LAPV=15__}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=16 }

RMS (ADC-ped)

200
180
160 f=
140 f=
120
100
80
60

40
20

0

APV channel




run_13067006 FGT_ ADC_1,Timebin=2,Disc=2,asmb=2AB
Wed Mar 7 02:48:33 2012

ADC for FGT RDO=1ARM=LAPV=17__§ [ ADC for FGT RDO=1,ARM=1,APV=17 |
4000

3500

ADC-ped

3000
2500
2000
1500
1000

500

0 10

1000 2000 3000 4000
raw ADC APV channel

Py
O
O
i
p=
Py
<
i

ADC for FGT RDO=1ARM=1APV=18 [ ADC for FGT

p=
T
<]
11
=)
|
b

4000

3500

ADC-ped
ADC-ped

3000

o
5}

2500
2000
1500
1000

500 10
0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

" 1
0 1000 2000 3000 4000 20 40 60 80 100 120
raw ADC APV channel

[ abc for FGT RDO=LARM=LAPV=19 } I ADC for FGT RDO=1,ARM=1,APV=19 l
4000

3500

ADC-ped
ADC-ped

3000

o
15}

2500

2000

1500

1000

10

500

0

0 1000 2000 3000 4000 20 40 60 80 100 120
raw ADC APV channel

ADC for FGT RDO=1,ARM=1,APV=20

[[ADC for FGT
4000

Py
]

O=1,ARM=LAPV=20 }

3500

ADC-ped
ADC-ped

3000

=
15}

1 H|'I1II'|HI'I

2500

2000

1500

1000

500

10

0

=
=
=
e
=
=
=
=
=
=

0

N
I
IS
S
3
3

0 1000 2000 3000 4000 80 100 120
raw ADC APV channel

ADC for FGT RDO=1ARM=LAPV=21 | [ ADC for FGT RDO=1,ARM=1,APV=21 }
4000

3500

ADC-ped
ADC-ped

3000

I~
15}

2500
2000
1500
1000

500 10°

0

11r|1|r|1lr|1||rmrl1|r|1|r|1|[r|1 Il‘l1ll‘l1 T

0 1000 2000 3000 4000
raw ADC APV channel




run_13067006 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2AB
Wed Mar 7 02:50:24 2012

[ADC MPV for RDO=1ARM=LAPV=17 J

MPV (ADC-ped)

. . ;
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=18 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=19 |

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120
APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=21 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500 " " " " " " " " " " " " " "
20 40 ) a0 100 120

APV channel




run_13067006 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Wed Mar 7 02:50:58 2012

[ADC RMS for RDO=1,ARM=LAPV=17 _}

RMS (ADC-ped)

200

180 f=

160
140
120
100
80
60
40

20

=
o

o
N
53
IS
S
3
S
@
gl .
o
15}
S
-
Y]

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=18 "}

RMS (ADC-ped)

240
220
200
180
160
140

120 =
100 =
80 =

60
40
20

0

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=19 }

RMS (ADC-ped)

220
200

180 =
160 =
140 [

120
100
80
60
40
20
0

i

1
120
APV channel

[ADC RMS for RDO=1,ARM=LAPV=20 _}

RMS (ADC-ped)

200
180
160
140
120
100
80
60
40
20

0

Rl I[IH|H‘I]IH|‘I1I|H‘I]IH‘|

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=21 "}

RMS (ADC-ped)

200

180

160 f=
140 [
120

=

100 f=

80

60

40

20
0

120
APV channel




run_13067006 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Wed Mar 7 02:48:37 2012

[ADC for FGT RDO=1,ARM=2,APV=0 }

C-ped

= AD!
15}

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=1 }

ADC-ped

I~
15}

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=LARM=2,APV=2 }

ADC-ped

o
=)

1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=3 }

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=2,APV=4 l

0 1000

2000 3000 4000

raw ADC

[ ADC for FGT RDO=1,ARM=2,APV=0

4000

° =
] = .
o = :
Q 3500 f=—|- </~ {-t-f---- EEEE B R £ PR R | R E T
< =
3000 P=f—|- <= {-t-f---- R L Rl EEL L EE R
=
P = o EEERER S RERER e R R e R R EL LR
= 8
2000 f=—|- <~ {-t-f---- e R Rl EEL LR e L EE EELLELE
= i
1500 |- [« 4=t < p -~ - B B ] e e R
1000 P=t—|- A= 41 -f - - - 1 EFEE B BUEEE £ EPE PR | DEEEETE PR P
= 8
= 8
500 fet—|- (- 4=t fo-n-H caol|olleposdllsllocdlsoscosdszlboscasss
= 2 8
= =3 2
()= o ESERERES SEEEE B e B e § e e
= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=1

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

rm
m
rm:
rm:
L
b=
=
L
b=
=
L
b=
r
L
I
0

[ ADC for FGT RDO=1,ARM=2,APV=2

1
120
APV channel

- 4000 py
] = . . . .
g = 2 2 2 2
Q 3500 - - {-1- o EEE  E R -t-
< =
3000 - - {-1- o EE R | R R -t-
H
2500 pE—-4-1-1- f 3 EER | R R t-
=
2000 [ -1- = SLELEIE
=
1500 B 1-1-1- o SEEELE ==
1000 [ 1-1-1- dpap2ei|jlecfpo=2=22 ==
L
500 :—:— J1-4-1- dbdpsel|llocbeocons olho
rm
o - - - B
is i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=2,APV=3 }
- 4000 p—
5] =
oo =
Q 3500 F= -
< =
3000 = |- 1~
2500 = - 1-
2000 f=r— - 1
=
1500 f= -
1000 P=— - 4 -
=
=
500 == -|- -
=
o E=4]
=
=
0

[ ADC for FGT RDO=1,ARM=2,APV=4

80 100 120

APV channel

3 4000 p
Y =
2 3500 - ----- - BRand
2 =
3000 |- -+ - - - - soooils
2500 - - - - - - A
rm
2000 |- - - - - - .
=
1500 |- - - - - - - I
H
1000 |- - - - - - - accolls
=
500 pF—|- - - - - - - PR B
=
ol H|------- SEthlfE
L L . .
0 2

APV channel

.. a4 m,.d Es.d A 8

10

10°

10°

10

10




run_13067006 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Wed Mar 7 02:50:25 2012

[ADC MPV for RDO=1ARM=2,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=1 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=2}

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=4 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

APV channel




run_13067006 FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
Wed Mar 7 02:50:59 2012

[CADC RMS for RDO=1,ARM=2,APV=0__J

RMS (ADC-ped)

240
220
200
180 =
160 =
140
120
100
80
60
40
20

- IICRICRICRICED: |

0

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=1 "}

RMS (ADC-ped)

160
140
120
100
80
60
40

20

0

[ ADC RMS for RDO=1,ARM=2,APV=2 "}

RMS (ADC-ped)

200 —
180
160
140 &
120 =
100
80 i
60 |

40

20

=
—1] ..
—

HH

H

0

=
0

20
APV channel

[CADC RMS for RDO=1ARM=2,APV=3__}

RMS (ADC-ped)

120

f 1|r|-|1|[m i

100

80
60

40

20

OSBRI -HIH-HH‘”IH‘HI Hi

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=4 "}

RMS (ADC-ped)

180 =
160
140 (=
120 B
100 f=——
80 k
60
40

20

0
0

120
APV channel




run_13067006 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Wed Mar 7 02:48:41 2012

[ADC for FGT RDO=1,ARM=2,APV=5 }

ADC-ped

=
15}

3000 4000
raw ADC

1000 2000

[ADC for FGT RDO=1,ARM=2,APV=6 }

ADC-ped

I~
15}

LI
0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1LARM=2,APV=7 }

ADC-ped

=
1)

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=8 }

= ADC-ped

=)

1000

2000

3000 4000
raw ADC

ADC for FGT RDO=1,ARM=2,APV=9 l

ADC-ped

=
15}

3000 40(
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=5 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

'

0

© AT R R A A

N
NE-.

APV channel

[ ADC for FGT RDO=1,ARM=2,APV=6 }

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
= 8
== =
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=7 }

- 4000 p—=
] =
o =
Q 3500 f=— - -
% =
3000 = - -
=
2500 f=—r- -
=
2000 f=— - -
=
1500 f=— - -
1000 pP=—- - -
=
500 f=—r - -
=
o E—
=
APV channel
[ADC for FGT RDO=1,ARM=2,APV=8 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=9 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

... 4 .. .4 mo.Jd EoAd Wl

107

10°

10°

10°

10




run_13067006 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Wed Mar 7 02:50:26 2012

[ADC MPV for RDO=1ARM=2,APV=5__}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=6 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13067006 FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
Wed Mar 7 02:51:00 2012

[CADC RMS for RDO=1,ARM=2,APV=5__}

RMS (ADC-ped)

200 f=
180 £
160
140 =
120 f—
100
80
60

40
20 =

0
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=6 }

RMS (ADC-ped)

180 [
100 =
140
120 |
100
80

60 [

40 p—

20

0

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=7 }

RMS (ADC-ped)

i
120
APV channel

[CADC RMS for RDO=1,ARM=2,APV=8__}

RMS (ADC-ped)

180 F
160
140
120
100 f
80 =

60

40 [

20

0

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=9 "}

RMS (ADC-ped)

140
120 [
100 f—
80 |r
60 |

W=

20 f—=

APV channel




run_13067006 FGT_ ADC_1,Timebin=2,Disc=3,asmb=3AB
Wed Mar 7 02:48:45 2012

[ ADC for FGT RDO=1,ARM=2,APV=12 | [ ADC for FGT RDO=1,ARM=2,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=13 | [ ADC for FGT RDO=1,ARM=2,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1ARM=2,APV=14 | [ ADC for FGT RDO=1,ARM=2,APV=14 }
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=15 | [ ADC for FGT RDO=1,ARM=2,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=LARM=2,APV=16 | [ ADC for FGT RDO=1,ARM=2,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13067006 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB

Wed Mar 7 02:50:27 2012

[ADC MPV for RDO=1ARM=2,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=2,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=2,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=2,APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13067006 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Wed Mar 7 02:51:01 2012

[ADC RMS for RDO=1,ARM=2,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=2,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




run_13067006 FGT_ ADC_1,Timebin=2,Disc=3,asmb=3AB

Wed Mar 7 02:48:46 2012

ADC for FGT RDO=1ARM=2,APV=17 _§

1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1ARM=2,APV=18 _§

ADC-ped

=
Q

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=LARM=2,APV=19
—

ADC-ped

=
1)

0 1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=2,APV=20 |
o
3
[
9]
a
<
10°
10
0 1000 2000 3000 4000
raw ADC
ADC for FGT RDO=1,ARM=2,APV=21__§
o
3
[
%)

= ADf
1)

i
3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=2,APV=17_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT

RDO=1,ARM=

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=2,APV=19 }

" 1
100 120
APV channel

= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 =
2 =
3000 =
=
2500 f=
=
2000 =
=
1500 =
1000 P=
=
500 f=
=
U=
= i i i i i i
20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=2,APV=20 }
= 4000 p—
] = . . .
g = 8 8
Q 3500
<

3000

2500

2000

1500

1000

500

0

© T AT TR AT TR T

[ ADC for FGT RDO=1,ARM=2,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

40

80

100 120
APV channel

s
=
s
=
s
=
=
=
=
=
=
=
=
I
0

APV channel

. e..d ) E..d Wl

10°

10

10

10

10




run_13067006 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB
Wed Mar 7 02:50:27 2012

[ADC MPV for RDO=1ARM=2,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=18 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=19 |

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

; ; :
€Y 20 0 50 80 100 120

APV channel

MPV (ADC-ped)

i
20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=1,ARM=2,APV=21 "}

MPV (ADC-ped)

APV channel




run_13067006 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Wed Mar 7 02:51:01 2012

[ADC RMS for RDO=1,ARM=2,APV=17 _}

RMS (ADC-ped)

40 E

20 [

i
H
60 H
i
H
0

[ ADC RMS for RDO=1,ARM=2,APV=18 '}

200
180

160

RMS (ADC-ped)

140
120
100 k£

80 F

60

40
20

1
9 120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=19 |

g =
g 200 =
3

2 180 =
@ :

2 160

o

140
120 f=—
100 =

80

60
40
20

0

APV channel

180 =

160

RMS (ADC-ped)

140 f=
120 f—

100 p——
80 fm—

60

40

20

SJ-CERNI0CEERIARE

i
120
APV channel

0

[ ADC RMS for RDO=1,ARM=2,APV=21 "}

= =
g 200
8 80 =
< 1
P =
@ 160 f=
'3
140 |
120 =
100 f—

80

60

40 E
20

i
120
APV channel

0




run_13067006 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Wed Mar 7 02:48:50 2012

[ADC for FGT RDO=1,ARM=3,APV=0 } [ ADC for FGT RDO=1,ARM=3,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=3,APV=1 } [ ADC for FGT RDO=1,ARM=3,APV=1 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=LARM=3,APV=2 } [ ADC for FGT RDO=1,ARM=3,APV=2 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=3,APV=3 } [ ADC for FGT RDO=1,ARM=3,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=3 APV=4 } [ ADC for FGT RDO=1,ARM=3,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=4DA

4 asmb

ISC=

in=2,Di
29 2012

imeb
50

Wed Mar 7 02

run_13067/006_FGT_MPV_1,T

TARM=3,APV=0_ }

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

ARM=3,APV=1 }

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

ARM=3,APV=2 "}

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=3,APV=3_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=3,APV=4 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13067006 FGT_RMS_ 1,Timebin=2,Disc=4,asmb=4DA
Wed Mar 7 02:51:02 2012

[ADC RMS for RDO=1,ARM=3,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=3,APV=1 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13067006 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Wed Mar 7 02:48:52 2012

[ADC for FGT RDO=1,ARM=3,APV=5 }

[ 1000 2000 3000 4000
raw ADC

ADC-ped

.
15}

1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1LARM=3,APV=7 }

= ADC-ped

3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=3,APV=8 }

= ADC-ped

=)

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=3,APV=9 }

3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=3,APV=5

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r|1lrll|r|1|r|1|[|1n-|1rr|

[ ADC for FGT RDO=1,ARM=3,APV=6

4000

APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

B L L L L LD LA i

[ ADC for FGT RDO=1,ARM=3,APV=7

4000

1
120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=1,ARM=3,APV=8

80

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

[ ADC for FGT RDO=1,ARM=3,APV=9

4000

80

120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© A AR A A

APV channel

.. i1 Ee..Jd E..Jd E...d Wl

10

10°

10

10

10




run_13067006 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Wed Mar 7 02:50:29 2012

[ADC MPV for RDO=1ARM=3,APV=5 _}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=3,APV=6 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=7 }

MPV (ADC-ped)

APV channel

[ADC MPV for RDO=1ARM=3,APV=8__}

MPV (ADC-ped)

1500

1000

500

-500

PRTTTT [1-r1-r]-'-1-|-|-|-r-|-r1-[1-|-

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13067006 FGT_RMS_ 1,Timebin=2,Disc=4,asmb=4DA
Wed Mar 7 02:51:02 2012

[CADC RMS for RDO=1,ARM=3,APV=5__}

RMS (ADC-ped)

1 ‘V
120

APV channel

RMS (ADC-ped)

120 |

100 |-
—

60 F

80 [+

40

20 [

[ ADC RMS for RDO=1,ARM=3,APV=7 }

RMS (ADC-ped)

60

50

40

30

20

10

T |||||||

i
120

S=0033313 33N IXEEEEEK]

APV channel

[CADC RMS for RDO=1,ARM=3,APV=8__}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=9 "}

RMS (ADC-ped)

18
—

16 [

14

—
12

0.8

06 [

E

0.4 P—

02 =

0

120
APV channel




run_13067006 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB

Wed Mar 7 02:48:56 2012

ADC for FGT RDO=1ARM=3,APV=12 _§

o
3

5

%)

a

fo

10
0 1000 2000 3000 4000
raw ADC

[[_ADC for FGT RDO=1.ARM=3.APV=13 |

o

3

[

%)

a

<

10°

0 1000 3000 4000

raw ADC

ADC for FGT RDO=LARM=3,APV=14 _§
—

= ADC-ped

3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=3,APV=15

ADC-ped

0 1000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=3APV=16 _§

ADC-ped

=
15}

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=3,APV=12_}

= 4000 p—
] = . . . . . .
i =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
Ll T e |
= 2
= 8
e = = = e B S i
= i i i i i i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=3,APV=13 "}
= 4000 p—
] = . . . . . .
5 =
8 3500 fm——- -
< =
3000 f=—— - -
2500 fm— - -
2000 f/— - -
=
1500 f=— - -
=
1000 f=— - -
=
500 f—
= 8
== 3
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=14 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=— i .
2 =
3000 f=— Sfee-
=
2500 = Stees
=
2000 = SELE
=
1500 f=— SELE
1000 f=— SELE
=
500 f=— afhzas
=
oE— Qe
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=3,APV=15_}
- 4000 p—
5] = . . .
e = .
Q 3500 f=— - -
< =
3000 f=—---
2500 fm— - - -
2000 f=—- - -
=
1500 f=— - - -
1000 p=—- - -
=
=
500 fp=—- - -
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=16 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

.. A . .d . i EL.d

10

10"

10

10

10

10




run_13067006 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4AB
Wed Mar 7 02:50:30 2012

[ADC MPV for RDO=1ARM=3,APV=12_}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=13 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=3,APV=14 |

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

; ; :
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500 " " " " " " " " " " " " " "
20 40 ) a0 100 120

APV channel




run_13067006 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Wed Mar 7 02:51:03 2012

[ADC RMS for RDO=1,ARM=3,APV=12__}

RMS (ADC-ped)

140 [
120 f—

100 [

80

60 |r
40 [

=
20

0

|

[ ADC RMS for RDO=1,ARM=3,APV=13 "}

RMS (ADC-ped)

80

70

60

50

40 |

30

20

10 £

0

[ ADC RMS for RDO=1,ARM=3,APV=14 "}

RMS (ADC-ped)

100

i
120
APV channel

[CADC RMS for

RDO=1,ARM=3,APV=15 |

RMS (ADC-ped)

70

60

50

40

30

20

10

0

il IIHI'I]H I I[I‘I'I*.' THHHH HI‘II_HI

i i
20 40 60 80 100 120
APV channel

[[ADC RMS for

RDO=1,ARM=3,APV=16 }

RMS (ADC-ped)

APV channel




run_13067006 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB
Wed Mar 7 02:49:00 2012

[ ADC for FGT RDO=1 ARM=3,APV=17 | [ ADC for FGT RDO=1,ARM=3,APV=17 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=3,APV=18 | [ ADC for FGT RDO=1,ARM=3,APV=18 }
L - 4000 p—
g - 3 = . . . . . .
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ abc for FGT RDO=LARM=3,APV=19 } I ADC for FGT RDO=1,ARM=3,APV=19 l
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q —
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=——
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=3,APV=20 | [ ADC for FGT RDO=1,ARM=3,APV=20 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1ARM=3.APV=21 _}| [ ADC for FGT RDO=1,ARM=3,APV=21 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i
0 1000 2000 3000 4000

raw ADC APV channel




run_13067006 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4AB

Wed Mar 7 02:50:31 2012

[ADC MPV for RDO=1ARM=3,APV=17

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=3,APV=18 '}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=3,APV=19 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=3APV=20 }
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=21 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13067006 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Wed Mar 7 02:51:05 2012

[ADC RMS for RDO=1,ARM=3,APV=17 _}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=3,APV=18 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=19 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=21 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13067006 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Wed Mar 7 02:49:01 2012

[ADC for FGT RDO=1,ARM=4,APV=0 } [ ADC for FGT RDO=1,ARM=4,APV=0

5 = 4000 p—
3 ] =
2 2 =
8 o 3500 f— - - - -
2 2 = 10
N 3000 f=— - -
=
2500 f=—- - - -
=
2000 f=—-- - -
= 1
1500 f=—- - - -
1000 p=—- - - -
=
=
500 ==+ "
= 10
o=
T = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel

[ADC for FGT RDO=1,ARM=4,APV=1 }

ADC-ped

=
Q

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=LARM=4APV=2 }

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=4,APV=3 }

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1,ARM=4,APV=4 l

[ ADC for FGT RDO=1,ARM=4,APV=1

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=4,APV=2

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

1
120
APV channel

aEldENATERIAGNATGRAAGNAGRARRIATENATRNATENIG]

10

[[ADC for FGT

RDO=1,ARM=4,APV=3

3500

ADC-ped

3000

2500 f=

2000

1500

1000

500

0

4000

80

120
APV channel

10°

[ ADC for FGT RDO=1,ARM=4,APV=4

APV channel

-

b5 = 4000 p—
g 3 = 5 = - - . :
o oy = : ’ o
3 Q R I s
[a] bl 3500 = :
B < = .
=R R .
10 3000 = d
2500 fm— e e f e nnn e -
= : .
2000 fm— v e e e eann -8
= .
= .
10 1500 ::— ------------ ..:
= .
1000 = s v e e e e e -2
= H )
= : 10
500 PEEEE EEEREEE -2
= .
0 == rr ey =1
= . . i . . i i . : ; i .
0 1000 2000 3000 4000 0 20 20 o0 L L i
raw ADC APV channel



run_13067006 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
Wed Mar 7 02:50:31 2012

[ADC MPV for RDO=1ARM=4,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=1 }

MPV (ADC-ped)

-
1500 [
1000 [+

500 |+

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=2__}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13067006 FGT_RMS_1,Timebin=2,Disc=5,asmb=5DA
Wed Mar 7 02:51:05 2012

[CADC RMS for RDO=1,ARM=4,APV=0_}

250

RMS (ADC-ped)

200

150

100

50

il 'I'HI]1'I'I'I|I1'I'I'[I11'I'|'HI

i
120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=1 }
250 == R R R R R s

RMS (ADC-ped)

"H'I'TI'I'H'I'

1
120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=2 "}

200 f=
180 =

RMS (ADC-ped)

160
140 fr
120 f=
100 =
80

120
APV channel

200

180

160

RMS (ADC-ped)

140

120

]IH|‘I1I|H‘I]1H|

100

80

60

40

20

© PRI

i
120
APV channel

0

[ ADC RMS for RDO=1,ARM=4,APV=4 "}

250

RMS (ADC-ped)

i
120
APV channel




run_13067006 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Wed Mar 7 02:49:05 2012

[ADC for FGT RDO=1,ARM=4,APV=5 } [ ADC for FGT RDO=1,ARM=4,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=6 } [ ADC for FGT RDO=1,ARM=4,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=4,APV=7 } [ ADC for FGT RDO=1,ARM=4,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=8 } [ ADC for FGT RDO=1,ARM=4,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=4,APV=9 } [ ADC for FGT RDO=1,ARM=4,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=5DA

5,asmb

ISC=

in=2,Di

imeb
50

Wed Mar 7 02

run_13067/006_FGT_MPV_1,T

:32 2012

TARM=4,APV=5_}

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

=6 |}

ARM=4,APV:

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=7}

ARM=4,APV:

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=4,APV=8_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=4,APV=9 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13067006 FGT_RMS_1,Timebin=2,Disc=5,asmb=5DA
Wed Mar 7 02:51:06 2012

[ADC RMS for RDO=1,ARM=4,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=4,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=4,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13067006 FGT_ ADC _1,Timebin=2,Disc=5,asmb=5AB
Wed Mar 7 02:49:07 2012

ADC for FGT RDO=1ARM=4,APV=12__§ [ ADC for FGT RDO=1,ARM=4,APV=12 |

5 = 4000 p—
3 [oiiiil 3 =
2 g = 10
g =
8 Q 3500 f—
< < =
10 3000 fI=—
=
2500 f=——
= 1
2000 f—
=
10 1500 f=——
1000 f=——
= 10"
500 f—
=
=
of—
= i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 121
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=4,APV=13 | [ ADC for FGT RDO=1,ARM=4,APV=13
o = 4000 p—
3 ] = . . . . . .
S s =
(8] Q —
o o) 3500 =
< < = 10
10 3000 f=——
2500 fm—
2000 fm/——
= 1
10 1500 f=—
=
1000 p=——
=
500 f—
= 10"
0=
E_. . . i i . . . i . . . i . . . i . . . i
1000 2000 3000 40 0 20 40 60 80 100 120
raw ADC APV channel
[ Aoc for FeT RDO=LARM=4,APV=14 | [ ADC for FGT RDO=1,ARM=4,APV=14
L = 4000 p=
g 2 = H H H H H H
; G = 10
o %) =
9 9 3500 f=
< < =
10 3000 =
=
2500 p=——
=
2000 f=— &
=
1500 f=——
1000 fP=——
= 1
500 f=— 10
=
E
= i i i i i i
1000 2000 3000 4000 20 40 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=4,APV=15 | | ADC for FGT RDO=1,ARM=4,APV=15
o T = 4000 p—
3 ] = . . .
2 =3 =
Q Q 3500 f=—
< < = 10
3000 f/—
10 =
2500 =
2000 f=—
=
= 1
=
10 1500 f=—
1000 f=——
=
=
500 =
= -1
0= 10
=
=
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=LARM=4,APV=16 || [ ADC for FGT RDO=1,ARM=4,APV=16
B = 4000
3 3
[ & 10
o o
8 g 3500
< <
10 3000
2500
1
2000
10 1500
1000
10"
500
0
0 1000 2000 3000 4000
raw ADC APV channel



run_13067006 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
Wed Mar 7 02:50:32 2012

[ADC MPV for RDO=1ARM=4,APV=12_}

MPV (ADC-ped)

1500 [+

1000 [5

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=13 "}

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13067006 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Wed Mar 7 02:51:06 2012

[ADC RMS for RDO=1,ARM=4,APV=12__}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=4,APV=13 "}

RMS (ADC-ped)

240

220 =
200 =

180
160
140

20 r—
& £
100 =

80
60
40

=
20 f=

0

APV channel

[ ADC RMS for RDO=1,ARM=4,APV=14 "}

RMS (ADC-ped)

200 k-
180 [=

160

140

120 [
100 E
80 F
60

40

20

0

APV channel

[CADC RMS for RDO=1,ARM=4,APV=15__}

RMS (ADC-ped)

160

140

120

100

80

60

40

20

B L LV e |||||||]1I1|IH|TH

i
100 120
APV channel

| ADC RMS for RDO=1,ARM=4,APV=16 }

RMS (ADC-ped)

250

200

150

100

50

i i i . . . i .
20 40 60 80 100 120
APV channel

°TH1] FFRITITTIFTTTTT T TT




run_13067006 FGT_ ADC _1,Timebin=2,Disc=5,asmb=5AB
Wed Mar 7 02:49:11 2012

ADC for FGT RDO=1,ARM=4,APV=17

] [[ADC for FGT RDO=1,ARM=4,APV=17_}

1000 2000

3000 4000

ADC for FGT RDO=1,ARM=4,APV=18

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

10°

T

0

N
NE-

raw ADC APV channel

| [ ADC for FGT RDO=1,ARM=4,APV=18 "}

ADC-ped

=
Q

0 1000 2000

3000 4000

[[_ADC for FGT RDO=1 ARM=4,APV=19
—

4000

3500

ADC-ped

3000
2500

2000

1000

500 10

0

rm
ke
=
=
=
=
rm:
1500 [
=
rm:
=
=
o
I
=
0

" " 1
20 40 60 80 100 120
raw ADC APV channel

] [ ADC for FGT RDO=1,ARM=4,APV=19 }

C-ped

HAD
<

10

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10

H 38¢8
1000 2000

3000 4000 20 40 60 80 100 120

[ ADC for FGT RDO=1,ARM=4,APV=20

raw ADC APV channel

[[ADC for FGT

Py
]

O=1,ARM=4,APV=20 }

SN ADC-ped

&
0 1000 2000

3000 4000

ADC for FGT RDO=1,ARM=4,APV=21

4000

3500

ADC-ped

3000

'1TP1IW1TH

2500
2000
1500
1000
500 w

0

° TIrg]|r|1|r|1|[|1|r|1|r|]|||1

20 40 60 80 100 120
raw ADC APV channel

[ ADC for FGT RDO=1,ARM=4,APV=21 }

ADC-ped

.
15}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0
10

aEldENRTERIAGNATGRAARNATGRARRIATENATENATENAG]
= =
S}

0 1000 2000

3000 4000

raw ADC APV channel




run_13067006 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
Wed Mar 7 02:50:34 2012

[ADC MPV for RDO=1ARM=4,APV=17

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=18 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

120
APV channel

[ADC MPV for RDO=1,ARM=4,APV=19 _}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=4,APV=20 }
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
O 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=21 "}

MPV (ADC-ped)

1500

1000

500

-500

20 a0 0 a0 100 120
APV channel




run_13067006 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Wed Mar 7 02:51:07 2012

[ADC RMS for RDO=1,ARM=4,APV=17 _}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=4,APV=18 "}

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=4,APV=19 |

RMS (ADC-ped)

16
14 f=

12

E
058 fr
0.6
04 f=

0.2

0

APV channel

[CADC RMS for RDO=1,ARM=4,APV=20 _}

RMS (ADC-ped)

200

180

160

140

120

FITATRFATTF IH|

100

80

60 |

40
—

20

0

[ ADC RMS for RDO=1,ARM=4,APV=21 "}

RMS (ADC-ped)

16

14

12

10

120
APV channel




run_13067006 _FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC

Wed Mar 7 02:49:15 2012

[ADC for FGT RDO=2,ARM=0,APV=0 }

C-ped

= AD
Q

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=0,APV=1 }

= ADC-ped

15}

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=0,APV=2 }

ADC-ped

=
1)

2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=0,APV=3 }

1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=0,APV=4 l

ADC-ped

=
15}

2000

3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=0,APV=0_}

= 4000 p—
] =
& =

Q 3500 f—
< =

3000 P=—
=

2500 =
=

2000 =
=

1500 =

1000 =
=
=

500 =
=
=

0=

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=1 "}
= 4000 p—
] = . . . . .
5 =
8 3500 = ---{{--f}-F|-1--
< =
3000 P=—---{{--f}-}|-1--
2500 - - - {{-- -} |- -1--
=
2000 = ---{1--}f-F|--1--
=
1500 === -4 -t} - 1= -
=
1000 f=—---{{--tp-F |- 1--
=
500 ==~ {{--tf-I -1
=
O = s i i S O
= . . . . i . . . i . . . i . . . i . . . i
0 2 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=2 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
U=
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=0,APV=3 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=
< =
3000 =
2500 =
2000 f=
=
1500 =
1000 p=
=
=
500 =
=
0=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=4 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

.8 . d s . d LA

10

10

10°

10°

10

10




run_13067006 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Wed Mar 7 02:50:35 2012

[ADC MPV for RDO=2,ARM=0,APV=0__}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13067006 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Wed Mar 7 02:51:08 2012

[CADC RMS for RDO=2,ARM=0,APV=0_ J

180

160

RMS (ADC-ped)

140

120

100

80
60

40

20

i g e AR

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=1 "}

F—
140

120 p—

RMS (ADC-ped)

100

80 |
60
40 |
20
o i . . . i . . . i . . . i . . . i
40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=2 "}

120 f—

100 [+

RMS (ADC-ped)

80
60 [

40 B

20

N N i
20 40 60 80 100 120
APV channel

[CADC RMS for RDO=2,ARM=0,APV=3__}

180 p——
160 [+

140

RMS (ADC-ped)

120 [
100 p—
80 f—

60

40 |

20

. . . ;
® 120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=4 "}

140 [+

120 P

RMS (ADC-ped)

100 —
80 |r
60 |

40

20

20 40 60 80 100 120
APV channel




run_13067006 _FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC

Wed Mar 7 02:49:19 2012

[ADC for FGT RDO=2,ARM=0,APV=5 }

3000 4000
raw ADC

[ 1000 2000

[ADC for FGT RDO=2,ARM=0,APV=6 }

ADC-ped

=
Q

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=0,APV=7 }

ADC-ped

o
=)

1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=0,APV=8 }

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=0,APV=9 l

ADC-ped

=
15}

0 1000

3000 4000
raw ADC

[[ADC for FGT RDO=2,ARM=0,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=2,ARM=0,APV=6 }

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0fE—
E_. . . i . . . i . . . i . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
U=
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=0,APV=8
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=9 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|1TI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

.. .a e.d E.d ol L a

10

10

10"

10

10

10°




run_13067006 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Wed Mar 7 02:50:36 2012

[ADC MPV for RDO=2,ARM=0,APV=5__}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=6 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

i
120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=9 "}

MPV (ADC-ped)

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13067006 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Wed Mar 7 02:51:09 2012

[CADC RMS for RDO=2,ARM=0,APV=5__}

RMS (ADC-ped)

200 f=
=
=

180 =

160 p—

140

120 £

100

80

60

40

20

0

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=6 }

RMS (ADC-ped)

200

180

160

140
120
100

80

60

=
40
20

0

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=7 }

RMS (ADC-ped)

180 =

160 =

140

120 f/—
100 f—

80 =

60

40

20

0

1
120
APV channel

RMS (ADC-ped)

200 f=

180

160 p—
140 =

120
100
80

60

40

20
0

i
120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=9 "}

RMS (ADC-ped)

200 |

180

160

140

120
100

80 =

60
40
20

0

APV channel




run_13067006 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD

Wed Mar 7 02:49:23 2012

ADC for FGT RDO=2,ARM=0,APV=12 _§

=AD
15}

C-ped

[ 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=2,ARM=0APV=13 _§

= ADC-ped

15}

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=2,ARM=0APV=14 _§
—

ADC-ped

=
1)

1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=2,ARM=0,APV=15

ADC-ped

o
=3

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=2,ARM=0APV=16 _§

ADC-ped

=
1)

3000 40(
raw ADC

[[ADC for FGT RDO=2,ARM=0,APV=12_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=2,ARM=0,APV=13 "}
4000

APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=2,ARM=0,APV=14 "}

1
120
APV channel

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=2,ARM=0,APV=15_}
- 4000 p—
5] = . . .
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b==
=
= 1
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=2,ARM=0,APV=16 l
.- 4000
] 5 5 5 5 5 g
&
9 3500 <411
<

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

.4 e.d el LA 8

10°

10°

10

10

10°




run_13067006 _FGT_ MPV_1,Timebin=2,Disc=1,asmb=1CD

Wed Mar 7 02:50:37 2012

[ADC MPV for RDO=2,ARM=0,APV=12_}

MPV (ADC-ped)

i i i
20 20 60 80 100 120

-500

[ ADC MPV for RDO=2,ARM=0,APV=13 "}

APV channel

[
1500 |+

MPV (ADC-ped)

1000 [+

-500

[ ADC MPV for RDO=2,ARM=0,APV=14 "}

120
APV channel

MPV (ADC-ped)

i i i i
20 40 60 80 100 120

-500

APV channel

MPV (ADC-ped)

I
120

-500

[ ADC MPV for RDO=2,ARM=0,APV=16 }

20 40 60 80 100

APV channel

MPV (ADC-ped)

-500

120
APV channel

20 40 ) a0 100




run_13067006 FGT_RMS 1, Timebin=2,Disc=1,asmb=1CD
Wed Mar 7 02:51:10 2012

[ADC RMS for RDO=2,ARM=0,APV=12__}

s = ]
2 Tl e
Q T
a 5
< 300 [
0
250 s i R L R R R LR LR EREE R R N R R LR EER EERRREE
200 P r e R R PR EE R PR R R R P EEETEEPEEPEEPREREEE & R R R P SRR
150
100 =
—
50 FH- - {4 {{ ] P e e R WL Sl b L R -
i
0 0 120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=13 "}

F—

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=14 "}

RMS (ADC-ped)

i
120
APV channel

[CADC RMS for RDO=2,ARM=0,APV=15__}

RMS (ADC-ped)

APV channel

| ADC RMS for RDO=2,ARM=0,APV=16 }

200 =
180 =

160 =

RMS (ADC-ped)

140 =
120
100 F
80
60

40

20 f=—-f- : i ] N T I P A REEPREPPRE CRRRTR :
120

APV channel




run_13067006 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD
Wed Mar 7 02:49:27 2012

ADC for FGT RDO=2,ARM=0,APV=17 _§

ADC-ped

o

3000 4000
raw ADC

1000

2000

ADC for FGT RDO=2,ARM=0APV=18 §

ADC-ped

.
15}

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=0.APV=19
—

ADC-ped

o
=3

1000 2000 3000 4000

raw ADC

[ ADC for FGT RDO=2,ARM=0,APV=20

ADC-ped

o
15}

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=0,APV=21 _§

C-ped

HAD
3

3000 4000
raw ADC

[[ADC for FGT RDO=2,ARM=0,APV=17

= 4000 p—
] = . . . . . .
& =
Q 3500 s s s s e
< =
5000] =L LELELECEELELE
=
2500) =L EEELLELELEL
=
2000 f=——
=
1500 f=——
1000 f=——
=
50 |==5c5050505050a0
=
=
0 sz
= i i i i i i
0 20 40 60 80 100 12
APV channel
[ ADC for FGT RDO=2,ARM=0,APV=18 "}
= 4000 p—
] = 0
5 =
8 3500 =~ -~ - =
< = 8
3000 f=— - - - - - o|p=odegescecssscaes =
= 8
2500 = - - - - - B R -
=
2000 = - - - - - B T -
= o
1500 f=r— |- - - - - -
= 8
1000 = +{- - - - - R -
= 8
500 = -tk .- -
= H 5
Of=—-----~ B B e -k
= . . i . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=19 }

40 60 80
APV channel

- 4000 p—=
] = .
& = .
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 f=——
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i
20
[[ADC for FGT RDO=2,ARM=0,APV=20 }
- 4000 p—
5] =
oo =
Q 3500 F=— EE TR T
< =
3000 - === seleee
2500 = P
2000 f=—y- === - - - B R
=
1500 f=—| e
1000 p=—|- - - - - - - BRI
=
=
500 fm—rt---- - - s
=
0 f—t-mrenma S
=
=
0

20

[ ADC for FGT RDO=2,ARM=0,APV=21 "}

4000

40 60 80 120

APV channel

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

. e . e

10

10

10°

10"

10°

10°




run_13067006 _FGT_ MPV_1,Timebin=2,Disc=1,asmb=1CD
Wed Mar 7 02:50:38 2012

[ADC MPV for RDO=2,ARM=0,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=18 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=19 |

MPV (ADC-ped)

i i i i
20 40 60 80 100 120

-500

APV channel

MPV (ADC-ped)

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=21 "}

MPV (ADC-ped)

-500

20 a0 0 a0 100 120
APV channel




run_13067006 FGT_RMS 1, Timebin=2,Disc=1,asmb=1CD

Wed Mar 7 02:51:12 2012

[ADC RMS for RDO=2,ARM=0,APV=17 _}

RMS (ADC-ped)

20 40 60 80

i i
100 120

[ ADC RMS for RDO=2,ARM=0,APV=18 "}

RMS (ADC-ped)

APV channel

[CADC RMS for

RMS (ADC-ped)

80

70

60

50

40

30

20

10 =

0

RMS (ADC-ped)

120 |+

100 f

[
80 |

60 -
40

20 |

[ ADC RMS for RDO=2,ARM=0,APV=21 "}

RMS (ADC-ped)

APV channel

120
APV channel




run_13067006 _FGT_ADC _1,Timebin=2,Disc=2,asmb=2BC
Wed Mar 7 02:49:31 2012

[ADC for FGT RDO=2,ARM=1,APV=0 } [ ADC for FGT RDO=2,ARM=1,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1,APV=1 } [ ADC for FGT RDO=2,ARM=1,APV=1 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1APV=2 } [ ADC for FGT RDO=2,ARM=1,APV=2 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1APV=3 } [ ADC for FGT RDO=2,ARM=1,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=1,APV=4 } [ ADC for FGT RDO=2,ARM=1,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




2BC

2,asmb

ISC=

2,D

in
40 2012

b
50

Ime

Wed Mar 7 02

0 1]

run_13067006_FGT_MPV_1,T

2,ARM=

[CADC MPV for RDO

APV channel
APV channel
APV channel
APV channel

120
120
120
120
120

=1 }
= |
=3 |}
= |

1,APV
1,APV
1,APV:
1,APV

2,ARM
LARM:
2,ARM
LARM

2
2

(pad-0av) AdW (pad-0av) AdiW (pad-Dav) Adi (pad-0av) AdW (pad-0av) AdiW

[ADC MPV for RDO
[ADC MPV for RDO:
[ADC MPV for RDO
[ ADC WPV for RDO

APV channel



run_13067006 FGT _RMS 1,Timebin=2,Disc=2,asmb=2BC
Wed Mar 7 02:51:13 2012

[ADC RMS for RDO=2,ARM=1,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=1,APV=1 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13067006 _FGT_ADC _1,Timebin=2,Disc=2,asmb=2BC
Wed Mar 7 02:49:33 2012

[ADC for FGT RDO=2,ARM=1,APV=5 } [ ADC for FGT RDO=2,ARM=1,APV=5 |
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500 E
10

0

[ 1000 2000 3000 4000
raw ADC APV channel

[ADC for FGT RDO=2,ARM=1,APV=6 } [ ADC for FGT RDO=2,ARM=1,APV=6 }
4000

3500

ADC-ped
ADC-ped

3000

.
15}

2500
2000
1500
1000 10°
500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

" 1
1000 2000 3000 40( 20 40 60 80 100 120
raw ADC APV channel

[ADC for FGT RDO=2,ARM=1APV=7 } [ ADC for FGT RDO=2,ARM=1,APV=7 }
4000

3500

ADC-ped
ADC-ped

3000

=
1)

2500
2000
1500
1000 10
500

0

1000 2000 3000 4000
raw ADC APV channel

[ADC for FGT RDO=2,ARM=1,APV=8 } [ ADC for FGT
4000

Py
]

0=2,ARM=LAPV=8_}

3500

ADC-ped
ADC-ped

3000

o
15}

1 H|'I1II'|HI'I

2500
2000
1500
1000 :
10
500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

0 1000 2000 3000 4000 20 40 60 80 100 120
raw ADC APV channel

ADC for FGT RDO=2,ARM=1,APV=9 } [ ADC for FGT RDO=2,ARM=1,APV=9 "}
4000

C-ped

3500

=AD
S
ADC-ped

3000
2500
2000
1500
1000 10°
500

0

11r|]|r|1|r|1|[|1|r|1|r|]|r|1lrn I|‘I1II‘|1 T

0 1000 2000 3000 4000
raw ADC APV channel



run_13067006 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2BC
Wed Mar 7 02:50:40 2012

[ADC MPV for RDO=2,ARM=1,APV=5__}

MPV (ADC-ped)

1500 [+

1000 [5

APV channel

[ ADC MPV for RDO=2,ARM=1,APV=6 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




=2BC

2,asmb

In=2,Disc=

. 1, Timeb
Wed Mar 7 02

run_13067006_FGT_RMS_1,T

13 2012

51

=2 ARM=LAPV=5_}

[CADC RMS for RDO

120

_;Laaaaaa_a_..

]
TYEIPFFFFF

H
H

Q Q
=3 B

(pad-0av) sy

40
30
20
10

0

APV channel

APV=6__}

=T

2,ARM

[ ADC RMS for RDO:

120

(pad-0av) sy

APV channel

=2, ARM=1,APV=7 "}

[ ADC RMS for RDO:!

120

100

20

(pad-Dav) SWy

0

APV channel

=2 ARM=LAPV=8__}

[CADC RMS for RDO

120

60

40

(pad-0av) sy

APV channel

2,ARM=1,APV=9 "}

[ ADC RMS for RDO

120

2
100

(pad-0av) sy

APV channel



run_13067006 FGT_ADC _1,Timebin=2,Disc=2,asmb=2CD
Wed Mar 7 02:49:37 2012

ADC for FGT RDO=2,ARM=LAPV=12__§ [ ADC for FGT RDO=2,ARM=1,APV=12 |
4000

C-ped

3500

=AD
)
ADC-ped

3000

2500

2000

1500

1000

500

0

10

© AR R R A A

[ 1000 2000 3000 4000
raw ADC APV channel

ADC for FGT RDO=2,ARM=1APV=13 [ ADC for FGT RDO=2,ARM=1,APV=13 "}

4000 10

C-ped

3500

=AD
<
ADC-ped

3000
2500
10 2000
1500
1000

500

0

AT A A

1 I " 1
0 1000 2000 3000 4000 20 40 60 80 100 120
raw ADC APV channel

ADC for FGT RDO=2,ARM=LAPV=14 } I ADC for FGT RDO=2,ARM=1,APV=14 l
4000

3500

ADC-ped
ADC-ped

3000

2500

2000

1500

1000

500

0

-
3000 4000
raw ADC APV channel

10

i el |
1000 2000

[ ADC for FGT RDO=2,ARM=1,APV=15

[[ADC for FGT
4000

Py
]

0=2,ARM=LAPV=15_}

3500

ADC-ped

3000

1 H|'I1II'|HI'I

2500

2000

1500

1000

500

0

10

° nrl]lrn|r|1|[|1|r|1|r|]n|1

0 1000 2000 3000 4000 20 40 60 80 100 120
raw ADC APV channel

[ ADC for FGT RDO=2.ARM=1.APV=16 | [ ADC for FGT RDO=2,ARM=1,APV=16 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

® 10°

aEldEERTERIAGNATGRAARNATGRARRIATENATENATENAG]
= =
1S}

0 1000 2000 3000 4000
raw ADC APV channel




2CD

2,asmb

ISC=

2,D

in
41 2012

b
50

Ime

Wed Mar 7 02

12}

run_13067006_FGT_MPV_1,T

2,ARM=

APV channel
APV channel
APV channel
APV channel

120
120
120
120
120

=13
=12
=15
=16 |

1,APV
1,APV
1,APV:
1,APV

2,ARM

LARM:
2,ARM
2,ARM

2

[CADC MPV for RDO

(pad-0av) AdW (pad-0av) AdiW (pad-Dav) Adi (pad-0av) AdW (pad-0av) AdiW

[ADC MPV for RDO
[ADC MPV for RDO:
[ADC MPV for RDO
[ ADC WPV for RDO

APV channel



run_13067006 FGT_RMS 1, Timebin=2,Disc=2,asmb=2CD
Wed Mar 7 02:51:14 2012

[ADC RMS for RDO=2,ARM=LAPV=12__}

1

RMS (ADC-ped)

[ ADC RMS for RDO=2,ARM=1,APV=13 "}

1f

0.8

RMS (ADC-ped)

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

RMS (ADC-ped)

— H
o = i i i i i i
0 20 40 60 80 100 120
APV channel

[ADC RMS for RDO=2,ARM=LAPV=15__}
4

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=16 }

5 =
2 — —
g —
3 —
a 3fp—""""
< =
g =
z 25 ="
=
=
e
15 F5
P £ T P P PP P PR PR PR P PP
u
1 :
05 FE T, : :
o i . . . i . . . i . . . i . . . i . . . i
20 20 60 80 100 120

APV channel




run_13067006 FGT_ADC _1,Timebin=2,Disc=2,asmb=2CD
Wed Mar 7 02:49:40 2012

[ ADC for FGT RDO=2 ARM=1,APV=17 | [ ADC for FGT RDO=2,ARM=1,APV=17 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=1,APV=18 | [ ADC for FGT RDO=2,ARM=1,APV=18 }
L - 4000 p—
g - 3 = . . . . . .
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ Apcfor Fet RDO=2ARM=1APV=19 | [ ADC for FGT RDO=2,ARM=1,APV=19 }
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=1,APV=20 | [ ADC for FGT RDO=2,ARM=1,APV=20 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=1APV=21 || [ ADC for FGT RDO=2,ARM=1,APV=21 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i
0 1000 2000 3000 4000

raw ADC APV channel




run_13067006 _FGT_ MPV_1,Timebin=2,Disc=2,asmb=2CD

Wed Mar 7 02:50:42 2012

[ADC MPV for RDO=2,ARM=LAPV=17 J

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=1,APV=18 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=1,APV=19 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=2,ARM=LAPV=20 }
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=21 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13067006 FGT_RMS 1, Timebin=2,Disc=2,asmb=2CD
Wed Mar 7 02:51:15 2012

[ADC RMS for RDO=2,ARM=LAPV=17 _}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=1,APV=18 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=19 |

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=21 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13067006 _FGT_ADC _1,Timebin=2,Disc=3,asmb=3BC

Wed Mar 7 02:49:42 2012

[ADC for FGT RDO=2,ARM=2,APV=0 }

C-ped

HAD
3

[ 1000 2000

[ADC for FGT RDO=2,ARM=2,APV=1 }

3000

4000
raw ADC

C-ped

= AD
Q)

1000 2000

[ADC for FGT RDO=2,ARM=2,APV=2 }

3000 40(

raw ADC

= ADC-ped

15}

0 1000

2000

[ADC for FGT RDO=2,ARM=2,APV=3 }

3000 4000

raw ADC

C-ped

= AD
1)

1000 2000

ADC for FGT RDO=2,ARM=2,APV=4 l

3000

4000

raw ADC

3000 4000

raw ADC

[[ADC for FGT RDO

=2, ARM=2,APV=0_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

B L 0 L L A LA L LA L i

APV channel

[ ADC for FGT RDO=2,ARM=2,APV=1

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

1
120
APV channel

[ ADC for FGT RDO:

=2,ARM=2,APV=2 }

APV channel

- 4000 p—=
] =
o =
Q 3500 f=— - -1
% =
3000 f=—---{-
=
2500 f=—- - - {-
=
2000 fm—---1-
=
1500 f=—---1{-
1000 f=—---1-
=
500 f=— - - - {-
=
oE—-1-
=
[ADC for FGT RDO=2,ARM=2,APV=3 }
- 4000 p—
5] =
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
==
=
=
0

20 40 60 80 120

APV channel

[ ADC for FGT RDO=2,ARM=2,APV=4 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|1TI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

m.....4 .4 o1 Wm0 Wl

10

10

10

10

10°




run_13067006 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3BC
Wed Mar 7 02:50:42 2012

[ADC MPV for RDO=2,ARM=2,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=1 }

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=2 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

; ; :
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=4 "}

MPV (ADC-ped)

APV channel




run_13067006 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
Wed Mar 7 02:51:15 2012

[ADC RMS for RDO=2,ARM=2,APV=0__}

RMS (ADC-ped)

160

h—

140 p——

120

100

80

60

40

20

© T ITIIIFEF T

i
120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=1 "}

RMS (ADC-ped)

180

160 f——

120

100

60

40

20

140 =

80 [

0

[ ADC RMS for RDO=2,ARM=2,APV=2 "}

RMS (ADC-ped)

200 f—

180

160 p=

140

120
100
80
60

40

20 P=

0

APV channel

RMS (ADC-ped)

180

160 [+

140 f—

120 f=

100 f=

80

60 [

40

20 =

0

i
120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=4 "}

RMS (ADC-ped)

100

80

60

40 f—

20

°'I1I|H'I'1HE.11 FHFH

120
APV channel




run_13067006 _FGT_ADC _1,Timebin=2,Disc=3,asmb=3BC
Wed Mar 7 02:49:46 2012

[ADC for FGT RDO=2,ARM=2,APV=5 } [ ADC for FGT RDO=2,ARM=2,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=2,APV=6 } [ ADC for FGT RDO=2,ARM=2,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=2,APV=7 } [ ADC for FGT RDO=2,ARM=2,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=2,APV=8 } [ ADC for FGT RDO=2,ARM=2,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=2,APV=9 } [ ADC for FGT RDO=2,ARM=2,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




3BC

3,asmb

ISC=

2,D

in
43 2012

b
50

Ime

Wed Mar 7 02

51

run_13067006_FGT_MPV_1,T

2,ARM=

[CADC MPV for RDO

APV channel
APV channel
APV channel
APV channel

120
120
120
120
120

=6 .
=7}
8 ]
|

2,APV:
2,APV:
2,APV:
2,APV:

2,ARM
LARM:
2,ARM
LARM

2
2

(pad-0av) AdW (pad-0av) AdiW (pad-Dav) Adi (pad-0av) AdW (pad-0av) AdiW

[ADC MPV for RDO
[ADC MPV for RDO:
[ADC MPV for RDO
[ ADC WPV for RDO

APV channel



run_13067006 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
Wed Mar 7 02:51:16 2012

[CADC RMS for RDO=2,ARM=2,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=2,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13067006 FGT_ADC 1,Timebin=2,Disc=3,asmb=3CD

Wed Mar 7 02:49:47 2012

ADC for FGT RDO=2,ARM=2,APV=12 _§

= ADC-ped

=)

3000
raw ADC

4000

ADC for FGT RDO=2,ARM=2,APV=13 _§

= ADC-ped

=3

0 1000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=2,APV=14___§
—

C-ped

= AD!
15}

3000 4000
raw ADC

ADC for FGT RDO=2,ARM=2,APV=15

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=2,APV=16 _§

ADC-ped

=
°N

2000 3000 4000

raw ADC

[[ADC for FGT RDO=2,ARM=2,APV=12_}

= 4000 p—
] =
& =

Q 3500 f=——
< =

3000 f=—
=

2500 f=—
=

2000 f=——
=

1500 f=——

1000 f=——
=
=

500 p=—
=
=

of=—

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=2,APV=13 "}

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0 f=—
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=2,APV=14 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0 ==
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=2,ARM=2,APV=15_}
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b=
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=2,ARM=2,APV=16 l
.- 4000
] 5 5 5 5 5 g
&
9 3500 .-
<

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

m...d .0 e el el

10°

10°

10

10

10°




run_13067006 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3CD
Wed Mar 7 02:50:43 2012

[ADC MPV for RDO=2,ARM=2,APV=12_}

MPV (ADC-ped)

1500 [+

1000 [5

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=13 "}

MPV (ADC-ped)

-
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=14 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=16 }

MPV (ADC-ped)

[
i
1500 p—
L
1000 f——
500 f—
M
L
0 pb—
500 = i . . . i . . . i . . . i - - - i - - - i
Q 20 a0 AN 20 100 120

APV channel




run_13067006 FGT_RMS 1, Timebin=2,Disc=3,asmb=3CD
Wed Mar 7 02:51:16 2012

[ADC RMS for RDO=2,ARM=2,APV=12__}

140 |r
—

120

RMS (ADC-ped)

100 |
80 f—
() |F=—=cscc0000s0m00s0s0ai]accqbe|lanasasccaasgqmdbasaasaffEadbaccaascanad|idHb|lc]|eqha==laadbandbi=racanacanncaascanadbeaasasnansscsanscanacdhosaanna

0 b

20 :
—_—— e —
o I i i
100 120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=13 "}

= 160 f—
g =
8 140 f—
) —
2 120 fm—
o —
100 =
o =
60 f=— :
L— : :
40 Sl - .
L H 5
20 p— 8 g
o = i i . i i i i
0 20 20 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=14 "}

704—

60

RMS (ADC-ped)

50 :
40 F
30
20 [

10

N N N i
o 20
APV channel

[ADC RMS for RDO=2,ARM=2,APV=15__}

RMS (ADC-ped)

[ ADC RMS for RDO=2,ARM=2,APV=16 }

100 |r
[

80 |-

RMS (ADC-ped)

60 [-
4

20 |+

120
APV channel




run_13067006 FGT_ADC 1,Timebin=2,Disc=3,asmb=3CD
Wed Mar 7 02:49:51 2012

ADC for FGT RDO=2,ARM=2,APV=17__§ [ ADC for FGT RDO=2,ARM=2,APV=17 |
4000

3500

= ADC-ped
ADC-ped

5}

3000
2500
2000
1500
1000

500 10°

0

[ 1000 2000 3000 4000
raw ADC APV channel

[ ADC for FGT RDO=2,ARM=2,APV=18 | [ ADC for FGT

4000

3500

ADC-ped

3000
2500
2000 =
1500
1000

500

0

10

I " 1
3000 4000 20 40 60 80 100 120
raw ADC APV channel

1 1
0 1000 2000

[ Apcfor Fet RDO=2ARM=2APV-19 | [ ADC for FGT

4000

3500

ADC-ped

3000

= ADC-ped

Q

2500

2000

1500

1000

500
10°

0

1000 2000 3000 4000
raw ADC APV channel

[ ADC for FGT RDO=2,ARM=2,APV=20

[[ADC for FGT
4000

Py
lw)
o
Tl
NS
>
Py
<
1l
NS
>
T
<
D
N
o
b

3500

ADC-ped
ADC-ped

3000

=
15}

1 H|'I1II'|HI'I

2500

2000

1500

1000

500 10

0

S boadibadaca

=
=3

° nrl]lrn|r|1|[|1|r|1|r|]n|1

0 1000 2000 3000 4000 20 40 60 80 120
raw ADC APV channel

Py
O
O
N
p=
Py
<
N

[ ADC for FGT RDO=2,ARM=2.APV=21 ] [ ADC for FGT

p=
T
<]
D
N
[
b

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10

© R A A A

N
N =5
IS
S
@
3
@
S
o
15}
53
e
N
5}

0 1000 2000 3000 4000
raw ADC APV channel



run_13067006 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3CD
Wed Mar 7 02:50:45 2012

[ADC MPV for RDO=2,ARM=2,APV=17 J

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=18 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=21 "}

MPV (ADC-ped)

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13067006 FGT_RMS 1, Timebin=2,Disc=3,asmb=3CD
Wed Mar 7 02:51:17 2012

[ADC RMS for RDO=2,ARM=2,APV=17 _}

RMS (ADC-ped)

250

200

150

100

50

B - IO EECOOXEC0O0IXECCOIXE]

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=18 '}

RMS (ADC-ped)

16

14

12 I+

10 |

b=
0

" " " " " " " " " " " " 1 " " " 1
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=19 |

RMS (ADC-ped)

120

100

80

60

40

20

o—:-I‘II'I-I'II-

APV channel

[CADC RMS for RDO=2,ARM=2,APV=20 _}

RMS (ADC-ped)

180 =

160

140 |5
120 =
100

80

60

40 [

20

0

[ ADC RMS for RDO=2,ARM=2,APV=21 "}

RMS (ADC-ped)

200 f—

180

160 p=
140 =

120

100 f=

50 =

APV channel




run_13067006 FGT_ ADC _1,Timebin=2,Disc=4,asmb=4BC
Wed Mar 7 02:49:55 2012

[ADC for FGT RDO=2,ARM=3,APV=0 }

ADC-ped

o
=)

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=3,APV=1 }

ADC-ped

=
Q

1000 2000 3000 40(

raw ADC

[ADC for FGT RDO=2,ARM=3,APV=2 }

ADC-ped

o
15}

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=3,APV=3 }

ADC-ped

.
15}

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=3,APV=4 l

ADC-ped

=
15}

0 1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=3,APV=0_}

APV channel

= 4000 p—
] = .
e = o
Q 3500 fm— - - - s p e e -
< =
3000 f=—------f----- 1 2
= 8
2500 p=— - mpe o] PR
= .
2000 - - - opn- - SLELE
= 5
1500 o s v e e fe e
1000 P=— - - -t e e e
= 8
= .
51 |==0co0000bos00ed Sos05
= 2
= 5
o = e
= i
0 20
[ ADC for FGT RDO=2,ARM=3,APV=1 }
= 4000
]
T
8 3500
<

3000

2500

2000

1500

1000

500

0

°-nn]1r|1|r|1|[|1|r|1|r|]|r|1|r|1r[|1|r|1m

[ ADC for FGT RDO=2,ARM=3,APV=2 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

1
120
APV channel

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|rn I|'I1II'|1 T

[[ADC for FGT

Py
]

0=2,ARM=3,APV=3_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

40 60 80
APV channel

1 H|'I1II'|HI'I

° nrl]lrn|r|1|[|1|r|1|r|]n|1

[ ADC for FGT RDO=2,ARM=3,APV=4 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

40 60 80 120

APV channel

APV channel

.. A me..Jd m.d WA Wl

10

10

10

10°

10




run_13067006 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Wed Mar 7 02:50:46 2012

[ADC MPV for RDO=2,ARM=3,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=2_}

MPV (ADC-ped)

1500

1000

500

-500

—
—
—
L
b—
[ i i i i i i
Q 20 40 60 80 100 120
APV channel

[ADC MPV for RDO=2,ARM=3,APV=3__}

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13067006 FGT _RMS 1,Timebin=2,Disc=4,asmb=4BC
Wed Mar 7 02:51:18 2012

[ADC RMS for RDO=2,ARM=3,APV=0_}

RMS (ADC-ped)

180 f=
160 7
140 p—
120 F
100 p—

80'_

60

40 |

20

0

i
120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=1 "}

RMS (ADC-ped)

200

180

160

140

120

100

80

60

40

20
0

—
=
—

i

© AT TR T

1
120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=2 "}

RMS (ADC-ped)

180

160

140

120

100

80

60

40

20

0

|H‘I]1II[I‘I1IH

il

IHI'|1II:FI=FI i

i
120
APV channel

[CADC RMS for RDO=2,ARM=3,APV=3_}

RMS (ADC-ped)

180 [
160 =
140 [
120 =
100 p—

80 f=

60

40 =

20

0

i
120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=4 "}

RMS (ADC-ped)

200

180

160

140

120 f—=

100

80

60 |

40

20
0

120
APV channel




run_13067006 FGT_ ADC _1,Timebin=2,Disc=4,asmb=4BC
Wed Mar 7 02:49:59 2012

[ADC for FGT RDO=2,ARM=3,APV=5 } [ ADC for FGT RDO=2,ARM=3,APV=5 |

ADC-ped

=
Q

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=3,APV=6 }

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=3,APV=7 }

ADC-ped

o
15}

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=3,APV=8 }

ADC-ped

=
15}

1000 2000 3000 4000
raw ADC

ADC for FGT RDO=2,ARM=3,APV=9 l

ADC-ped

I~
15}

3000 40(
raw ADC

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

N
NE-.

[ ADC for FGT RDO=2,ARM=3,APV=6

4000

APV channel

3500

ADC-ped

3000

2500

2000

1000

500

0

rm
ke
=
=
=
=
rm:
1500 [
=
rm:
=
=
rm
=
0

[ ADC for FGT RDO=2,ARM=3,APV=7

4000

" 1
60 80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|rn I|'I1II'|1 T

[[ADC for FGT

Py
]

0=2,ARM=3,APV=8

4000

60 80 100 120
APV channel

3500

ADC-ped

3000

1 H|'I1II'|HI'I

2500

2000

1500

1000

500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

[ ADC for FGT RDO=2,ARM=3,APV=9

4000

40

60 80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

. A .4 E.d E..d A

10

10

10

10

10°



run_13067006 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Wed Mar 7 02:50:47 2012

[ADC MPV for RDO=2,ARM=3,APV=5__}

MPV (ADC-ped)

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=6 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13067006 FGT _RMS 1,Timebin=2,Disc=4,asmb=4BC
Wed Mar 7 02:51:20 2012

[CADC RMS for

RDO=2,ARM=3,APV=5_}

RMS (ADC-ped)

=
=

13E03 ‘IIH-IH'HIHIHH-HI'

i
120
APV channel

[ADC RMS for

RDO=2,ARM=3,APV=6 |

RMS (ADC-ped)

APV channel

[CADC RMS for

RMS (ADC-ped)

i
120
APV channel

[CADC RMS for RDO=2,ARM=3,APV=8__}

RMS (ADC-ped)

[ ADC RMS for RDO=2,ARM=3,APV=9 "}

RMS (ADC-ped)

APV channel




run_13067006 FGT_ADC _ 1,Timebin=2,Disc=4,asmb=4CD
Wed Mar 7 02:50:03 2012

[ ADC for FGT RDO=2, ARM=3,APV=12 | [ ADC for FGT RDO=2,ARM=3,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=3,APV=13 | [ ADC for FGT RDO=2,ARM=3,APV=13 "}
L - 4000 p—
g - ] = . H ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2 ARM=3 APV=14 } I ADC for FGT RDO=2,ARM=3,APV=14 l
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q —
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=——
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2, ARM=3,APV=15 | [ ADC for FGT RDO=2,ARM=3,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=3.APV=16 | [ ADC for FGT RDO=2,ARM=3,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13067006 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4CD

Wed Mar 7 02:50:48 2012

[ADC MPV for RDO=2,ARM=3,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=3,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=3,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ ADC MPV for RDO=2,ARM=3 APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13067006 FGT_RMS 1, Timebin=2,Disc=4,asmb=4CD
Wed Mar 7 02:51:21 2012

[ADC RMS for RDO=2,ARM=3,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=3,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




run_13067006 FGT_ADC _ 1,Timebin=2,Disc=4,asmb=4CD

Wed Mar 7 02:50:05 2012

[ ADC for FGT RDO=2,ARM=3,APV=17 |
5
3
5
o
a
<
10%
10
1
0 1000 2000 3000 4000
raw ADC
[ ADC for FGT RDO=2,ARM=3,APV=18 |
o
3
[
o
a
<
10°
10
0 1000 2000 3000 4000
raw ADC
[ Apcfor Fet RDO=2ARM=3APV-19 ]
5
3
[
o
a
<
10°
10
1000 2000 3000 4000
raw ADC
[ ADC for FGT RDO=2,ARM=3,APV=20 |

0 1000

2000

ADC for FGT RDO=2,ARM=3,APV=21 _§

3000

4000
raw ADC

ADC-ped

=
15}

3000
raw ADC

4000

[[ADC for FGT RDO=2,ARM=3,APV=17_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© AR R A

APV channel

[ ADC for FGT RDO=2,ARM=3,APV=18 }

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0f=—
E_. . . i . . . i . . . i . . . i . . . i . . . i .
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=19 }

- 4000 p—=
] =
o =
Q 3500 f=—
< =
3000 f=—
=
2500 f=— -|
=
2000 =
=
1500 = -|
1000 = -|
=
500 f=— -
=
=
=
APV channel
[[ADC for FGT RDO=2,ARM=3,APV=20 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
==
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=21 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

. ) . Ll

10

10°

10

10

10




run_13067006 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4CD
Wed Mar 7 02:50:48 2012

[ADC MPV for RDO=2,ARM=3,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=18 "}

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=21 "}

MPV (ADC-ped)

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13067006 FGT_RMS 1, Timebin=2,Disc=4,asmb=4CD
Wed Mar 7 02:51:21 2012

[ADC RMS for RDO=2,ARM=3,APV=17 _}

RMS (ADC-ped)

200 [=

180

160 |
140 f=
120 7
100 =

80 f—
60

40

20

0

[ ADC RMS for RDO=2,ARM=3,APV=18 "}

RMS (ADC-ped)

200 p——
180 [=
160

140

120 f=
100 :
80 [
60

40

20 p=

0

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=19 }

RMS (ADC-ped)

i
120

APV channel

RMS (ADC-ped)

i i
0 20 40 60 80 100 120

[ ADC RMS for RDO=2,ARM=3,APV=21 "}

RMS (ADC-ped)

100 [F
80 *

60 |r

20 |+

40 [+

APV channel




run_13067006 _FGT_ADC _1,Timebin=2,Disc=5,asmb=5BC
Wed Mar 7 02:50:09 2012

[ADC for FGT RDO=2,ARM=4,APV=0 } [ ADC for FGT RDO=2,ARM=4,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=1 } [ ADC for FGT RDO=2,ARM=4,APV=1 "}
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=2 } [ ADC for FGT RDO=2,ARM=4,APV=2 "}
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=3 } [ ADC for FGT RDO=2,ARM=4,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=4,APV=4 } [ ADC for FGT RDO=2,ARM=4,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=5BC

5,asmb

ISC=

in=2,Di

imeb
50

Wed Mar 7 02

run_13067006_FGT_MPV_1,T

149 2012

2,ARM=4,APV=0 J

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

=1 |

ARM=4,APV:

=

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=2}

ARM=4,APV:

=2

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

2 ARM=4,APV=3_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

=7}

ARM=4,APV:

=2

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13067006 FGT_RMS 1,Timebin=2,Disc=5,asmb=5BC
Wed Mar 7 02:51:22 2012

[CADC RMS for RDO=2,ARM=4,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=4,APV=1 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=4,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=4,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13067006 _FGT_ADC _1,Timebin=2,Disc=5,asmb=5BC

Wed Mar 7 02:50:10 2012

[ADC for FGT RDO=2,ARM=4,APV=5 }

ADC-ped

.
15}

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=4,APV=6 }

ADC-ped

=
Q

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=4,APV=7 }

ADC-ped

=
1)

1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=4,APV=8 }

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=4,APV=9 l

= ADC-ped

15}

0 1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=4,APV=5_}

= 4000 p—
] =
& =

Q 3500 f=——
< =

3000 f=—
=

2500 f=—
=

2000 f=——
=

1500 f=——

1000 f=——
=
=

500 p=—
=
=

0 f=—-

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=4,APV=6 }

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=4,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
==
=
APV channel
[ADC for FGT RDO=2,ARM=4,APV=8 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
0 f=—
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=4,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

.8 . . .

107

10

10

10"

10°

10"

10

10°

10°




run_13067006 FGT_MPV_1,Timebin=2,Disc=5,asmb=5BC
Wed Mar 7 02:50:50 2012

[ADC MPV for RDO=2,ARM=4,APV=5__}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=4,APV=6 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ADC MPV for RDO=2,ARM=4,APV=7__}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=2,ARM=4,APV=9 "}

MPV (ADC-ped)

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




5BC

5,asmb

ISC

2,D

in
22 2012

b
51

Ime

Wed Mar 7 02

5 1

4,APV:

run_13067006_FGT_RMS_1,T

[CADC RMS for RDO

2 2 2 2
£ { £ £
g g g g
5 5 5 5
> > > >
4g% 4gt g g g% g
° ° o
i . E ki
s -3 5]
18 18 3
° o
S S
Joodhachaod cdifocg & S ] ! g
= 5 & - | - : - : : -
5 o 0o o o o 0 o 0 ~ o b o © o o o
. . . . . . . . 1l . 1 . . . . . ] . . 1l
oo > >t o > : >
ol N o al|: : . a : : e
e [N <] |- <f|: : F < . . <
o o o @ bi < o o o o @ < o bi
T i i [ I . i : : 1
e = . = . . . . . = . . . =
N T o o o 5 o o0 o [ 0 o o o o 4 o o o o
< < < <
M | i I i (i m 3 | m i
JALLELL P E R PRI LY o O LLELLLEHELH ° Of LELELLELELELLLITTE 1l o) o
la] la) a) la]
8 8 $ 8§ 88 8 8 R ° x| 8 ] 8 § &§ 8 8 8 8 & ° ] 8 § 8§ 8 8 8 8§ ] ° (4
T8 3 S S 1l | . 8 3 § S Xy ¢ 3 8 3 5
.2 2 L .2
@] 0 [%) )
= = = =
4 x 4 4
(pad-0av) SwWy m (ped-0av) sy m (ped-0av) Sy m (pad-0av) SWy m (ped-0av) sy
<C << < <C

APV channel



run_13067006 FGT_ADC _1,Timebin=2,Disc=5,asmb=5CD
Wed Mar 7 02:50:14 2012

[ ADC for FGT RDO=2, ARM=2,APV=12 | [ ADC for FGT RDO=2,ARM=4,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=4,APV=13 | [ ADC for FGT RDO=2,ARM=4,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2 ARM=4,APV=14 | [ ADC for FGT RDO=2,ARM=4,APV=14 "}
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2, ARM=2,APV=15 | [ ADC for FGT RDO=2,ARM=4,APV=15 |}
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=4,APV=16 || [ ADC for FGT RDO=2,ARM=4,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13067006 _FGT_ MPV_1,Timebin=2,Disc=5,asmb=5CD

Wed Mar 7 02:50:51 2012

[ADC MPV for RDO=2,ARM=4,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=4,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=4,APV=14 "}

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=2,ARM=4,APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=4,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13067006 FGT_RMS 1, Timebin=2,Disc=5,asmb=5CD
Wed Mar 7 02:51:23 2012

[ADC RMS for RDO=2,ARM=4,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=4,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=4,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

| ADC RMS for RDO=2,ARM=4,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




